	ITEM NO.: 6105 - EVA
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. [bookmark: _GoBack]Tilt the back cushion to the appropriate angle and then fix it in place with the two bolts (B). See ‘a-a’ on the left for a detailed picture.
2. Fit the seat frame (A) to the upright post on the base (C).
3. Assembly finished.

	
	PARTS LIST

	
	A—Seat Frame
	1

	
	B—Bolt
	2

	
	C—Base
	1

	
	
	

	
	
	

	
	
	

	
	
	




	ITEM NO.: 6105 – EVA FOOTSTOOL
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. Place the footstool top (A) onto the post (B) and fix with screws (D – M6X20). Tighten the screws well using the wrench (F).
2. Take one of the screws (E – M8x50) and slide a washer (H) onto it. 
Repeat for other screws and then use these to fix the metal post (B) onto the base (C). Tighten the screws well using the wrench (G).
3. Assembly finished.

	
	PARTS LIST

	
	A –Footstool Top
	1

	
	B–Post
	1

	
	C—Footstool Base
	1

	
	D—Screw（M6X20）
	4

	
	E—Screw（M8X50）
	3

	
	F—Wrench for M6 Screw
	1

	
	G—Wrench for M8 Screw
	1

	
	H—Washer
	3

	
	



	



oleObject1.bin

image2.wmf
A

B

D

C

E

F

G

H


oleObject2.bin

image1.wmf
step   1

step   2

step   3

A

B

C

a-a

a-a


